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» Choose the correct option:

1) (10+25)ggives:
(a) 35 (b) 21 (c) 12

2) (10+25)g gives:
(a) 35 (b) 21 (c)12
3) (71+17)ggives:

(a) 11 (b) 110 (c) 10

4) Adding (46)g with (77)s gives:
(a) 175 (b) 145 (c) 195

5) (77+77)g gives:
(a) 177 (b) 116 (c) 176

6) (71.7+1.77)ggives:
(a) 73.66 (b) 72.67 (c) 73.76

7) (61.7+6.6)g gives:
(a) 70.6 (b) 72.5 (c) 73.5

8) (1747)s inits corresponding binary is:
(a) 10001 (b) 10111 (c) 11111

9) (167+67)g gives:
(a) 226 (b) 236 (c) 246

(1X15=15)

(d) None of these

(d) None of these

(d) None of these

(d) 1925

(d) None of these

(d) 73.67

(d) 70.5

(d) 10110

(d) 256



10) (12774516)g gives:
(a) 2001 (b) 2017

11) (4567+7654); gives:
(a) 14333 (b) 14433

12) (1234+567)g gives:
(a) 2333 (b) 2233

13) (111147777)g gives:
(a) 10001 (b) 10101

14) (123+765)g gives:
(a) 110 (b) 1110

15) (135+7534)g gives:
(a) 7671 (b) 1677

(c) 2016

(c) 14443

(c) 2023

(c) 11110

(c) 1111

(c) 1767
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(d) 2015

(d) 14433

(d) 2033

(d) 11100

(d) None of these

(d) None of these
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